Transfers Report

This report contains the transfers results.

Contest Name	Ward 6 - Dunbar and East Linton	
Valid Votes		6,141
Positions to be Filled		3
Quota		1,536

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Sarah BEATTIE-SMITH	Scottish Green Party		540
Norman HAMPSHIRE	Scottish Labour Party		1,633
Sue KEMPSON	Scottish Conservative and Unionist		1,834
Isobel KNOX	Scottish National Party (SNP)		811
Paul MCLENNAN	Scottish National Party (SNP)		1,047
Elisabeth Mary WILSON	Scottish Liberal Democrats		276
		Total	6,141

Candidate Norman HAMPSHIRE Elected with 1,633 votes, being in excess of the quota of 1,536 Candidate Sue KEMPSON Elected with 1,834 votes, being in excess of the quota of 1,536

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Sue KEMPSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah BEATTIE-SMITH	176	0.16248	28.59648
Transfer to Norman HAMPSHIRE	0	0.00000	0.00000
Transfer to Sue KEMPSON	0	0.00000	0.00000
Transfer to Isobel KNOX	51	0.16248	8.28648
Transfer to Paul MCLENNAN	42	0.16248	6.82416
Transfer to Elisabeth Mary WILSON	713	0.16248	115.84824
Value of non-transferable ballot papers			138.44464
	Total		298.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Norman HAMPSHIRE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah BEATTIE-SMITH	263	0.05939	15.61957
Transfer to Norman HAMPSHIRE	0	0.00000	0.00000
Transfer to Sue KEMPSON	0	0.00000	0.00000
Transfer to Isobel KNOX	141	0.05939	8.37399
Transfer to Paul MCLENNAN	168	0.05939	9.97752
Transfer to Elisabeth Mary WILSON	486	0.05939	28.86354
Value of non-transferable ballot papers			34.16538
	Total		97.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Elisabeth Mary WILSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah BEATTIE-SMITH	185	0.05939	10.98715
Transfer to Sarah BEATTIE-SMITH	216	0.16248	35.09568
Transfer to Sarah BEATTIE-SMITH	131	1.00000	131.00000
Transfer to Norman HAMPSHIRE	0	0.00000	0.00000
Transfer to Sue KEMPSON	0	0.00000	0.00000
Transfer to Isobel KNOX	22	0.05939	1.30658
Transfer to Isobel KNOX	11	0.16248	1.78728
Transfer to Isobel KNOX	21	1.00000	21.00000
Transfer to Paul MCLENNAN	15	0.05939	0.89085
Transfer to Paul MCLENNAN	9	0.16248	1.46232
Transfer to Paul MCLENNAN	28	1.00000	28.00000
Value of non-transferable ballot papers			189.18192

Total

N.B. The figures may not add due to rounding.

420.71178

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Sarah BEATTIE-SMITH

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Norman HAMPSHIRE	0	0.00000	0.00000
Transfer to Sue KEMPSON	0	0.00000	0.00000
Transfer to Isobel KNOX	123	0.05939	7.30497
Transfer to Isobel KNOX	97	0.16248	15.76056
Transfer to Isobel KNOX	302	1.00000	302.00000
Transfer to Paul MCLENNAN	36	0.05939	2.13804
Transfer to Paul MCLENNAN	24	0.16248	3.89952
Transfer to Paul MCLENNAN	99	1.00000	99.00000
Transfer to Elisabeth Mary WILSON	0	0.00000	0.00000
Value of non-transferable ballot papers			331.19579
	Total		761.29888

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Isobel KNOX

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sarah BEATTIE-SMITH	0	0.00000	0.00000
Transfer to Norman HAMPSHIRE	0	0.00000	0.00000
Transfer to Sue KEMPSON	0	0.00000	0.00000
Transfer to Paul MCLENNAN	209	0.05939	12.41251
Transfer to Paul MCLENNAN	123	0.16248	19.98504
Transfer to Paul MCLENNAN	985	1.00000	985.00000
Transfer to Elisabeth Mary WILSON	0	0.00000	0.00000
Value of non-transferable ballot papers			159.42231
	Total		1,176.81986